1 1,2 15 2 2,5 3 35 4
+10%
14 14 0,407 0,480 0,585
16 16 0,469 0,555 0,679 |
10 + 020 0,438 0518 0632
20 15 0516 0,612 0,750
20 0,595 0,706 0,868 1,124
10 0,516 0,612 0,750
15 0,595 0,706 0,868
25
20 0,673 0,800 0,985
25 0,752 0,894 1,103 1,438
10 0,595 0,706 0,868 1,124
15 0,673 0,800 0,985 1,281
30 20 + 025 0,752 0,894 1,103 1,438
25 0,830 0,989 1221 1,595
30 0,909 1,083 1,339 1752 2,148
15 0,752 0,894 1,103 1,438
20 0,830 0,989 1221 1,595
35
25 0,909 1,083 1,339 1,752 2,148
35 1,066 1271 1574 2,066 2,541
10 0,752 0,894 1,103 1,438 1,756
15 0,830 0,989 1221 1,595
20 0,909 1,083 1,339 1752 2,148
40
30 1,066 1271 1574 2,066 2,541
35 1,365 1,692 2,223 2,737 3,098
40 1,223 1,460 1,810 2,380 2,933 3334 3,805 4,252
25 1,271 1574 2,066 2,541 2,863
30 1,365 1,692 2,223 2,737 3,008
45 + 0,30
35 1,460 1810 2,380 2,933 3,334 3,805 4,252
45 1,648 2,045 2,694 3,326 3,805 4,354 4,880
10 0,909 1,056 1,207 1752 2,148
20 1271 1574 2,066 2,541
25 1,365 1,692 2,223 2,737 3,098
50
30 1,460 1,810 2,380 2,933 3334 3,805 4,252
40 1,648 2,045 2,604 3,326 3805 4354 4,880
50 2,281 3,008 3718 4,276 4,904 5,508
20 1810 2,380 2,933 3,334
30 2,045 2,694 3,326 3,805 4,354 4,880
60 40 + 035 2,281 3,008 3,718 4,276 4,904 5,508
50 2,516 3,322 4111 4,747 5453 6,136
60 2,752 3636 4,503 5218 6,003 6,764
30 2,281 3,008 3,718 4,276 4,904 5,508
70 50 + 0,40 3636 4,503 5218 6,003 6,764
70 4,264 5,288 6,160 7,102 8,020
40 3,636 4,503 5218 6,003 6,764
80 60 + 0,50 4,264 5,288 6,160 7,102 8,020
80 4,892 6,073 7,102 8,201 9,276
40 4,264 5,288 6,160 7,102 8,020
60 4,892 6,073 7,102 8,201 9,276
100 Ed 0,65
80 5,520 6,858 8,044 9,300 10,532
100 6,148 7,643 8,986 10,399 11,788
120 80 + 0,70 6,148 7,643 8,986 10,399 11,788
150 50 + 0,80 6,148 7,643 8,986 10,399 11,788
Masse lineigue: M (KG/MI) = e=2,5: M=0,00785x ((2xex (B +H-(2xe))) - (0,2146 x €2))
e>2,5: M=0,00785x ((2xex (B +H-(2xe))) - (2,146 x €?))




